504201 4 ol S R
BiargdfAf— g8 Eintgen b s

FRATAE T AR TRz

# B TN

A5 BNNSY

Ko 100 4+ 36T KA -

L. At each point (x,y) of a curve the intercept of the tangent on the y-axis is equal to
2xy*. Find the curve. (10%)

2. Obtain the response of the following system:  (10%)

PR W

when the input u is the unit-step function. Assume that x, (0) = 0,x,(0) = 0.
- :
3. Solve (x+2)° ﬂ—}jr-—{x +2jd—}r+ y=3x+4 (L0%0)
dx dx

4. Find the eigenvalues and the eigenfunction corresponding to each eigenvalue for
the following Sturm-Liouville problems.

@ y+dy=0; pO0)=y(x), y(0)=y(x) (10%)

®) Y -12y AT+ y=0;  YO=p(5)=0  (10%)

5. Solve the initial value problem: (15%)

YUES5Y 6y =380~ 2)+ (), pO0)=0, y(0)=4,with

S 0 0=t <3x/2
 |10cost t=35/2

S

T

6. Solve the differential equation,  {15%)

¥ =2y 4 3 =2 =24 + 40e

10)=0.5,"(0)=2.5, " (0)=—4.5

7. Find the inverse transform of given functions.
a) cosi@(i—-x) {10%)

b} :
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